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5. Assume that demand for a product is inelastic, will consumer expenditure go on increasing as price rises? 3marks
[image: image1.png]Assume that demand for a product is inelastic. Will consumer expenditure go on increasing as price
rises? Would there be any limit?

So long as demand remains inelastic with respect to price, then consumer expenditure will go on rising as
price rises. However, if the price is raised high enough, demand always will become elastic.





4. Define the key ingredients of any market structure .3marks
[image: image2.png]The key ingredients of any market structure are:
Number of fims in the marketindustry
Extent of barriers to catry

Nature of product
Degree of control over price




[image: image3.png]Question No: 41 (M-10)
a. Whatis the relationship between average physical product and marginal physical product in three cases i

i Marginal physical product is equal to average physical product.
The average physical product wil not change.

Marginal physical product is above the average physical product.
jerage physical product will also increase.
Marginal physical product is below the average physical product.
The average physical product will also fall

The





1.      Explain the relationship between income and elasticity demand of inferior goods. Explain with the draw of graph. 5 marks
[image: image4.png]INCOME ELASTICITY OF DEMAND
The relative response of a change in demand to a relative change in income. More specifically the
income elasticity of demand can be defined as the percentage change in demand due to a percentage

change in buyers' income. The income elasticity of demand quantitatively identifies the theoretical
relationship between income and demand.

€dy=40 + AY
Q Y

Less income elastic €dy < 1

More income elastic €dy > 1

Income (Y)

Quantity demanded (Q)

If the sign of income elasticity of demand is positive, the good is normal
good is inferior.

ind if sign is negative, the

Table:
‘Quantity Demanded
Income (Rs) Cnite)
10000 100
12000 105
YEd=AQ + AY
Q Y
= 5+ 2000
100 10000
=025

‘The Good s normal (the sign is positive). But its demand is income inelastic 0<| €| < 1




ECO401 - Economics - Q.No. 36 ( M - 5 ) 
Compare the characteristics of perfect competition and monopolistic competition with examples.
[image: image5.png]PROFIT MAXIMIZATION UNDER MONOPOLY
In monopoly, firm earns profit when MC=MR and MC curve cuts the MR curve from below. MC curve
is not the supply curve of the firm as it was in the perfect competition. This is also the major difference
between monopoly & perfect competition.

i. The profit maximizing or best level of output is given where MR=MC. Price is then read
off the demand curve which is downward sloping. Note however, the difference with
perfect competition, where the firm’s demand curve was horizontal and not downward
sloping like the industry. In a monopoly, however, the firm “is” the industry and therefore
faces the same demand curve as the industry (a downward sloping one).

ii. Depending upon the level of AC at the point where MR=MC, the monopolist might be
eam supernormal profits, breaking even or minimizing short run losses.

iii. Price is greater than MR in equilibrium. Therefore, price is not equal to MC. As such,
therefore, the supply curve for the firm s not the rising part of the MC curve.

A monopolist can make supernormal profits even in long run because there is no casy entry for other
firms as in the case of perfect competition. Therefore, a monopolist can maintain high price even in the
long run.




ECO401 - Economics - Q.No. 36 ( M - 5 ) 
What are the two main theories of production regarding time?
[image: image6.png]THERE ARE TWO THEORIES OF PRODUCTION
1. Short run productivity theory or the law of diminishing marginal returns. This theory states
that as we increase the amount of a variable factor with the fixed factor, initially the output will
increase but afterwards there will come a point when each extra unit of the variable factor
produces less extra output than the previous unit. In this theory, we take one factor as fixed
therefore; it applies only in the short run.
2. Long run productivity theory or returns to scale theory. In long run, all factors are variable.
‘This theory includes constant, increasing & decreasing returns to scale.
If population is increasing and output remains constant, then diminishing retums set in and therefore
average per capita production/consumption can be expected to fall ceters paribus.
A firm confronted with three more decisions;
a. Scale of production,
b, Location, size of industry
c. Optimum combination of inputs




ECO401 - Economics - Q.No. 35 ( M - 3 ) 
Why economists believe that when firms earn zero accounting profits, they actually earn normal economic profits?
[image: image7.png]Higher the difference, higher is the level of profit. Economists say that when firms earn zero accounting
profits, they actually eam normal economic profits because TC already includes the normal profits that
owners of the firms need for themselves to stay in the business. Positive profits are, for this reason,
called supernormal profits as they are over and above what the owners normally require as a retum for
their entrepreneurship.

Profit=TR-TC




ECO401 Question No: 36    ( M - 5 )
 Write down the advantages and disadvantages of monopoly.

[image: image8.png]Disadvantages of monopolies:

i, Monopolists produce lower quantities at higher prices compared to perfectly competitive
firms. This is because monopolists do not produce where P=MC (the point of allocative
efficiency) nor at P= AC minimum (the point of cost efficiency)

i, Monopolists earn supernormal profits compared to perfectly competitive firms

i, Most of the “surplus” (producer + consumer surplus) acerues to monopolists.

iv. Monopolists do not pay sufficient attention to increasing efficiency in their production

processes.




[image: image9.png]Advantages of monopolies:
i. Natural Monopolies are beneficial and efficient for society.
ii. Supernormal or monopoly profits can be invested in R&D, development of new
innovative products and to sustain a price war when breaking into new foreign markets.




ECO401 Question No: 35    ( M - 3 )
 Briefly explain the relationship between monopoly power and price elasticity of demand.
  Answer:
Market power is the ability to raise price above marginal cost and earn a positive profit. The degree to which a firm can raise price above marginal depends on the shape of the demand curve at the profit maximizing output. That is, elasticity is the critical factor in determining market power.
The relationship between market power and the Price Elasticity of Demand can be summarized by the equation:
P/MC = PED/(1 + PED)
PED will be negative, so the ratio is always greater than one. The higher the P/MC ratio, the more market power the firm possesses. As PED increases in magnitude, the P/MC ratio approaches one, and market power approaches zero. The equation is derived from the monopolist pricing rule:
(P - MC)/P = -1/PED
QNO2;EXPLAIN MONOPLY POWER MARKS 3

[image: image10.png]MONOPOLY POWER
Economists are often interested in how much monopoly power any firm (not necessarily a monopoly)
has. Here monopoly stands for the extent to which the firm can raise prices without driving away all it
customers. In other words, monopoly power and price elasticity of demand are inversely related.

Firms whose customers are more have more monopoly power. A monopolistic firm faces inelastic
demand of the product & its demand curve is negatively sloped. While in perfect competition, demand
curve has infinitely elasticity.




3. Give the degree of discrimination of the following
a. an electric power supply company uses block prices for electric sales.

b. An airline company charges different ticket rates to passengers

c. Tennis court owner charges different from child and young ones

d. Producers sells commodity abroad at lower price and higher price in local market

e. Doctor charges high prices to rich than poor.

4. What would be the shape of indifference curve in each of the following?

a. A, B are two brands of the same product, consumer can not tell the difference whether which is good or preferred.

b. X is good and Y is bad like household refuses.

Lesson21

2. Explain the traditional theory of firm with the help of its basic equation.
[image: image11.png]TRADITIONAL THEORY OF THE FIRM
‘The traditional theory of the firm says that the firm’s basic goal is to maximize profits. Profit is the
difference between the total revenue & total cost.

a=TR-TC
TR should be greater than the TC in order to maximize the profit. Some economists say that firm do not
‘want to maximize profit rather it wants to maximize its sales growth, its product likeliness etc. some
theories says that firms basic objective is to drive its competitor out of the market. Al these are rival
theories. However, the traditional theory says that firm’s objective is to maximize the profit
Types of firms:
A'firm can be sole proprietorship (one-person ownership), partnership (a limited number of owners) or a
limited company (a large number of changing shareholders).




. Equation of total revenue (TR) is given below
TR = 100Q – Q2

If Q =3 than calculate average revenue and slope of average revenue.

i. TR = P x Q. 

ii. AR = TR/Q; AR is usually equal to price unless the firm is engaged in price discrimination.

 iii. MR = ∆TR/∆Q. 

How can we achieve optimum combination of factors of production if:     5 Marks

 

                                              MPPk > MPPL

                                                 PK          PL

[image: image12.png]ol
If MPP>MPPy

P P
More labor should be used relative to capital, since the firm is getting a greater physical return for its
money from using extra workers than it is getting from using extra capital. However as more and more
Iabor is used, diminishing returns to labor set in. Thus MPPL will fall. Likewise, as less capital is used,
MPPK will rise. Until

MPP = MPP,
Py P
(Technical or productive

Efficiency point)




How the principle of diminishing marginal rate of technical substitution is related to the law of diminishing returns.   3 Marks

[image: image13.png]‘The principle of diminishing MRTS is related to the law of diminishing retums. As one moves down
along an isoquant drawn in K-L space, increasing amounts of labor are used relative to capital. Now,
given diminishing returns, the MPP of labor will fall relative to the MPP of capital

MRTS =

AK.MPPK = AL. MPPL
Rearranging

AK=MPPL
AL MPPK

AlsoMRTS=AK = MRTS
AL

MRTS = MPPL
MPPK





Why would you expect additional advertising dollars spent by a firm to cause smaller and smaller
increases in sales? In other words why should advertising suffer from “diminishing returns”?
[image: image14.png]Why would you expect additional advertising dollars spent by a firm to cause smaller and smaller
increases in sales? In other words why should advertising suffer from “diminishing returns”?
Because fewer and fewer additional people will see each extra advertisement (i.c. many of the people will
have seen the adverts already and thus there will be litle additional effect on their demand).






Question No: 36 ( Marks: 5 )

Write down any five situations in which cartel can survive?

Ans:1) Cartel can survive when number of firms is small.

2) When the collusion is tacit or hidden not explicit.

3) The products are homogeneous.

4) Industry is sable

5) There is opening among the firms regarding their production

process.

6) Government’s strictness in implementing antitrust law.

Question No: 37 ( Marks: 5 )

Differentiate between external economies of scale and external

diseconomies of scale with the help of examples.

Ans:

External economies: These are the benefits which are accured to

any firm in the presence of other firms. For example setting of credit

information bureaus by bank , advertising by industry such as rival

industry.

Discovery of new techniques.

This type of economy occurs when an industry is heavily concentrated

in a particular area.

Economies is available to all firms for example construction of roads

External diseconomies of scale :

These are the forces which causes the large firms to produce goods

and services at increased per unit costs.

This type of scale occurs when an industry grows larger and shortage

of skilled laor taking place and shortage of raw materials are the types

of external diseconomies.

When a firm become large then supervision of workers become difficult

and problem is created for management is taking place which cause

adverse effect on efficiency

[image: image15.png]Why the monopolists produce lower quantities at higher prices
compared to perfectly competitive firms?

Ans:

1) Large initial fixed cost is involved

2) Product differentiation or drabd loyalty

3) Monopolistic controls the supply of key factors of production

Question No: 36 ( Marks: 5 )
Write down any five situations in which cartel can survive?

Ans:

1) Cartel can survive when number of firms is small.
2) When the collusion is tacit or hidden not explicit.

3) The products are homogeneous.

4) Industry is sable

5) There is opening among the firms regarding their production
process.

6) Government's strictness in implementing antitrust law.



[image: image16.png]Question No: 41 ( Marks: 10)
A.  Differentiate between risk and uncertainty.

B.  What would the risk neutral person, risk averse person and risk
loving person do in the following cases?

o If Odds Ratio > 1
o If Odds Ratio =1
o If Odds Ratio < 1
C. You toss a coin, if head comes, you are given Rs. 200 and if tail comes,
you have to pay Rs. 200. Will you play this game or not? Give your answer
with brief explanation.
(Marks: 3+3+4)



[image: image17.png]Risk and Uncertainty : Risk is when an outcome may or may not occur but
its probability is known while uncertainty is when an outcome may or may

not occur but its probability is not known.

1)  For risk neutral person

o If Odds Ratio > 1, then he will definitely buy
o If Odds Ratio = 1, then he will be indifferent

o If Odds Ratio < 1, then he might not buy as OR < 1

2)  Forrisk averse person

o If Odds Ratio > 1, then in this case as well he might decide
not to buy.

o If Odds Ratio = 1, then he will definitely not buy

o If Odds Ratio < 1, then he will definitely not buy

3)  Forrisk loving person



[image: image18.png]o If Odds Ratio > 1, then he will definitely buy
o If Odds Ratio = 1, then he will definitely buy

o If Odds Ratio <1, then in this case as well he might decide
to buy.



.[image: image19.png]The tossing of a coin and the probability of a head appearing is 50% i.e. the
odds of success are fair. So the option of OR < 1 and OR > 1 is not there.
The only possibility is OR = 1 which means that the chances are not that
bad. Now it depends on the fact that whether | am a risk averse, risk neutral
or risk loving person. In case of fair odds both risk loving and risk neutral
person might decide to play. So | will play this game as the amount of
money involved is not that much and as far as my perception of it is
concerned the marginal benefit of gaining 200 Rs is perceived by me as
more than the marginal cost of losing the 200 Rs. So | would definitely play
this game. Moreover the excitement of winning might overshadow my
rational judgement and | would definitely decide to play by being carried
away by excitement.





[image: image20.png]B. The total physical product of labor is given in the following table; calculate the

average physical product of labor.

Labor input

Total Physical
Product (TPP.)

0

3

10

24

36

LIRS

40

(Marks: 2+3)
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[image: image21.png](Marks: 2+3)
Question No: 18 ( Marks: 5)

Explain the shape of the total revenue (TR) curve for price taking and price making
firms with the help of diagram. (Make diagrams separately for both firms)

(Marks: 2.5+2.5)




Pg :63

[image: image22.png][
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According to the given graph, at which point allocative efficiency is achieved?
Is the productive efficiency is also attained at the point of allocative efficiency? why
At which point economist might make a loss and what will be the role of
Government in this regard?
At which point monopolist is able to get allocative efficiency as well as productive
efficiency?

(Marks: 2.5+2.5+2.5+2.5)
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[image: image23.png]Question No: 19 ( Marks: 10)
Given the following quadratic demand function:
Qd=30-7P+P:
d out the quantity demanded when P = 4.
rentiate this demand function with respect to price.

Calculate the point elasticity of demand when P =
INTERPRET whether the absolute result shows elastic or inelastic demand?

A
B.
C.
D.

(Marks: 2+2+4+2)
BEST OF LUCK
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[image: image24.png]Question No: 41 (M-10)
a. Whatis the relationship between average physical product and marginal physical product in three cases i

i Marginal physical product is equal to average physical product.
The average physical product wil not change.

Marginal physical product is above the average physical product.
jerage physical product will also increase.
Marginal physical product is below the average physical product.
The average physical product will also fall

The




Economics 401 dated : 13.01.2015
18 MCS

2 Questions( 3 marks each) 3 Question ( 5 Marks each)
1) define sunk cost with an example? 3 Mrks
2) explain the figure (given) ? it was the figure when the firm makes the super normal profit given in the slides of the lecture 18.. 3 Mrks
3) Define the variable cost and fixed with the help of examples? 5 Mrks
4) explain the limit pricing with the help of given figure ( at book lecture 20) 05 Mrks
5) draw the vertical and horizontal curve? what are their elasties ? 5 Mr



MCQs ND Subject  Cover all this topics

Firms/household
Demand
Supply
Supply Curve/demand
Equiliburim
Elasticity
inletic
MArginal utility
RIsk
Slope



paper date: 12/1/2015
total 23 questions
17 mcqs 1 marks
3 questions 3 marks
2 question 5 marks
1 question 10 marks
mcqs mostly from lesson 3,5,6,11,15 to 17
 
questions 
3 marks 
SUNK COST with example

at what point monoploy is same as perfect compition explain with example on the basis of long and short run


===============================================
5 marks THE LAW OF DIMINISHING MARGINAL RETURNS
and calculate Marginal physical product (MPP) from the given
Average physical labor(APP)The total physical labor (TPP) 


calculate PROFIT MAXIMIZATION by 
Given the following equations:
TR = 72Q – 2Q²; TC = 10 + 12Q + 4Q²
Calculate the maximum profit output and the amount of profit at that output using MR & MC APPROACH
==========================================
10 marks  Qs = 60 + 15P + P²
(a)diffrentiate the given eq with respect to price.
(b)price elasticity of supply when the given price is 5.
(c)Draw the supply curve



   
